APO29 007 data#iseg= 8192 nseg= 1; overlap= 0.100000001 dt= 0.00

AP029.010

1.0 —

o
o
|

o
o
|

Correlation

|

-0.9 —

*10 _ Lill L

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 8192 overlap=

0.100000001

nseg= 1
I I ||||||| I I ||||||| I I ||||||| I I ||||||:
- AP0Z29.007 o 1— 1 —
2 amp=3.37E-08 f> 10Hz"
- amp=1.39E-07 > 1Hz |
------ J\amp=6.93E-07 >0.1Hz
| | IIIIII| | | IIIIII| | | IIIIII| | | |
10~ 1 109 101 107

Frequency (Hz)

10

106

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 8192 overlap=

0.100000001

nseg= 1

I I I |||||| I I I |||||| I I I |||||| I I I |||||:

- AP0Z29.010 o 1— 1 —
2 amp=4.01E—-08 f> 10Hz"
- amp=1.42E-07 > 1Hz |
------ llamp=7.02E—07 f>0.1Hz 3

| | | IIIII| | | | IIIII| | | | IIIII| | | | l |
10~ 1 109 101 107

Frequency (Hz)

10

106

Integrated Amplitude (m)



APO29 007 data#:seg= 8192 nseg= 2; overlap= 0.100000001 dt= 0.00

AP029.010

1.0

©
o

Correlation
(@)
o

—0.5

—-1.0

{

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 15975 overlap= 0.10000000

nseg= 2
I I IIIIII| I I IIIIII| I I IIIIII| I I IIIIII:
- AP0Z29.007 ; 1—- 1 —107°
R amp=3.22E—-08 f> 10Hz1
- amp=1.24E-07 > LHZ—1O*6

NGV amp=7.64E-07 £>0.1Hz

101 100 10! 10%

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 15975 overlap= 0.10000000

nseg= 2

AP0OZ9.010 ; 1— 1

amp=4.00E-08 > 10Hz"
amp=1.27E-07 > 1Hz |
V) amp=7.67E-07 £>0.1Hz

IIIII| LT

101 100 10!

Frequency (Hz)

Integrated Amplitude (m)



APO29 007 data#:seg= 8192 nseg= 3: overlap= 0.100000001 dt= 0.00

AP029.010

|

1.0 —

o
o
|

Correlation
(@)
o
|

-0.9 —

-1.0 — ul

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

Frequency (Hz)

data; seg= 8192 tot= 23758 overlap= 0.10000000
nseg= 3

I I IIIIII| I I IIIIII| I I IIIIII| I I IIIIII:
AP0Z29.007 ; 1— 1 —
amp=2.99E—-08 f> 10Hz1
B amp=1.06E-07 f> 1Hz |
_______ | amp=8.43E-07 >0.1Hz -
W“ _______ -
| | IIIIII| | | IIIIII| | | IIIIII| | | }H |
101 100 10l 107

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 23758 overlap= 0.10000000
nseg= 3
I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:
: AP029.010 ; 1- 1 105
2 amp=3.29E—-08 f> 10Hz"
- amp=1.07E-07 > LHZT1O*6
"""" W\ amp=8.63E-07 f>0.1Hz -
N 0 o U _; 10*7
| | [ IIII| | | [ IIII| | | [ IIII| | | LJ[J : -
101 100 10l 102" a

Frequency (Hz)

Integrated Amplitude (m)



APO29 007 data#:seg= 8192 nseg= 4; overlap= 0.100000001 dt= 0.00

AP029.010

e

1.0

©
o

Correlation

—0.5

i‘u

O
-
|||||||||||||||||||||||

—-1.0

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

Frequency (Hz)

data; seg= 8192 tot= 31541 overlap= 0.10000000
nseg= 4

I I I IIIII| I I I IIIII| I I I IIIII| I I I IIIII:
AP0Z9.007 ; 1— 1 —
amp=3.62E—-08 f> 10Hz"
- amp=9.66E-08 f> 1Hz |
""" Mamp=8.12E-07 £>0.1Hz -
| | | IIIII| | | | IIIII| | | | IIIII| | | |
10-1 109 101 107

10

106

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 31541 overlap= 0.10000000
nseg= 4

AP0OZ9.010 ; 1— 1

amp=4.46E—-08 > 10Hz"
amp=1.01E-07 > 1Hz |
Namp=7.81E-07 f>0.1Hz

IIIII| LT

101

100 10! 10%

Frequency (Hz)

Integrated Amplitude (m)



APO29 007 data#:iseg= 8192 nseg= 5; overlap= 0.100000001 dt= 0.00

AP029.010

|

H
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|

1.0

©
o

Correlation

k)l

—0.5

O
-
|||||||||||||||||||||||

—-1.0

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 39324 overlap= 0.10000000

nseg= o

- AP0Z9.007 ; 1— 1

amp=3.42E—-08 > 10Hz"
amp=1.17E-07 > 1Hz |
amp=8.33E—-07 f>0.1Hz

IIIII| LT

.

101 100 10!

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 39324 overlap= 0.10000000
nseg= o
I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII:
: AP029.010 ; 1— 1 -
R amp=4.22E—-08 f> 10Hz1
amp=1.20E-07 > 1Hz |

amp=08.20E—-07 f>0.1Hz

101

100 10!

Frequency (Hz)

Integrated Amplitude (m)



APO29 007 data#:iseg= 8192 nseg= 6: overlap= 0.100000001 dt= 0.00

AP029.010

I |||||||| I |||||||| I |||||||| I I T T TTTT
1.0 — aane
- N
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] | IIIIIII| | IIIIIII| | IIIIIII| | | I I T T |
101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 47107 overlap= 0.10000000
nseg= 6

I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:
- AP0Z29.007 ; 1— 1 —
2 amp=4.29E—-08 f> 10Hz"
- amp=1.22E-07 f> 1Hz |
| amp=9.01E-07 £>0.1Hz -
| | [ IIII| | | [ IIII| | | [ IIII| | | L1 |
101 100 10l 107

Frequency (Hz)

10

106

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 47107 overlap=

nseg= 6

0.10000000

AP0Z9.010

amp=4.48E—-08 > 10Hz"
amp=1.24E-07 >
L amp=9.16E-07 f>0.1Hz

- 1—1

IIIII| LT

| III

101

100 10!

Frequency (Hz)

1Hz

Integrated Amplitude (m)



APO29 007 data#:seg= 8192 nseg= 7: overlap= 0.100000001 dt= 0.00

AP029.010

1.0

©
o

Correlation

—0.5

L,

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 54890 overlap=

nseg= "7

0.10000000

AP0Z9.007

amp=3.38E—-08 > 10Hz"
amp=9.22E-08 >
|||\ amp= 8.97E—-07 £>0.1Hz

- 1—1

IIIII| LT

)

101

100 10!

Frequency (Hz)

1Hz

|
\
\

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 54890 overlap= 0.10000000
nseg= "7

I I I IIIII| I I I IIIII| I I I IIIII| I I I IIIII:
: AP029.010 ; 1— 1 -
R amp=3.69E—-08 f> 10Hz"

amp=9.42E-08 >

1Hz |
amp=9.14E-07 >0.1Hz

101

100 10!

Frequency (Hz)

Integrated Amplitude (m)



APO29 007 data#:iseg= 8192 nseg= 8; overlap= 0.100000001 dt= 0.00

AP029.010

1.0

©
o

Correlation

—0.5

O
-
|||||||||||||||||||||||

—-1.0

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 62673 overlap= 0.10000000
nseg= 8

I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:
- AP0Z29.007 ; 1— 1 —
R amp=3.42E—-08 f> 10Hz"
R Ny amp=1.14E-07 f> 1Hz |
Jamp=1.00E-06 £>0.1Hz 5
| | [ IIII| | | [ IIII| | | [ IIII| |
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 12

10— 19

1018

10— <1

data; seg= 8192 tot= 62673 overlap=

nseg= 8

0.10000000

AP0Z9.010

amp=3.03E-08 > 10Hz"
amp=1.15E-07 >
W amp=9.75E-07 f>0.1Hz

- 1—1

IIIII| LT

l l HH I

101

100 10!

Frequency (Hz)

1Hz

Integrated Amplitude (m)



APO29 007 data#iseg= 8192 nseg= 9; overlap= 0.100000001 dt= 0.00

AP029.010

1.0

0
|

©
o

Correlation

—0.5

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



Power (m®/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 70456 overlap= 0.10000000

nseg= 9

- AP0Z9.007 ; 1— 1

IIIII| LT

I
%
73
1
o
o
O
g3l
|
O
09
i
[EEEN
o
an
N
|

amp= 120E 07 > 1Hz |
. amp=1.11E-06 f>0.1Hz

101 100 10! 10%

Frequency (Hz)

10

106

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 70456 overlap= 0.10000000

nseg= 9

IIIII| LT

- APO29.010 ; 1-1
- amp=4.41E—-08 f> 10Hz1
I PR S A amp=1.24E-07 f> 1Hz |

amp=1.21E-06 f>0.1Hz

| IIIIIII| | IIIIIII| | IIIIIII| | | |

101 100 10! 10%

Frequency (Hz)

10

106

Integrated Amplitude (m)



APO29 007 data#:iseg= 8192 nseg= 10; overlap= 0.100000001 dt= 0.0

AP029.010

1.0 —

o
o
|

Correlation
(@)
o
|

-0.9 —

*10 _ hill

101 100 10! 10%

Frequency (Hz)



Power (m?®/Hz)

109

10— 1%

10— 19

10— 18

10— <1

Frequency (Hz)

data; seg= 8192 tot= 78239 overlap= 0.10000000
nseg= 10

I I IIIIII| I I IIIIII| I I IIIIII| I I IIIIII:
AP0Z29.007 ; 1—- 1 —
amp=3.58E-08 f> 10Hz"
- N\ amp=1.33E-07 f> 1Hz |
o ' amp=8.60E-07 f>0.1Hz 3
\\ _______ i
| | [ IIII| | | [ IIII| | | [ IIII| | | |
101 100 10l 107

10

106

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

Frequency (Hz)

data; seg= 8192 tot= 78239 overlap= 0.10000000
nseg= 10

I I IIIIII| I I IIIIII| I I IIIIII| I I IIIIII:
AP029.010 ; 1- 1 -
amp=3.85E-08 f> 10Hz1
- N amp=1.36E-07 f> 1Hz |
- | amp=8.82E-07 £>0.1Hz ]
| | IIIIII| | | IIIIII| | | IIIIII| | | | “‘ |
101 100 10l 107

10

106

Integrated Amplitude (m)



APO29 007 data#:seg= 8192 nseg= 11; overlap= 0.100000001 dt= 0.0

AP029.010

1.0

©
o

Correlation

—0.5

|

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 86022 overlap= 0.10000000
nseg= 11

AP0Z9.007 ; 1— 1

amp=3.71E-08 > 10Hz"
amp=1.14E-07 > 1Hz |
S | amp=9.99E-07 f>0.1Hz

IIIII| LT

T B R ‘hh

|
-
4V,

101 100 10!

Frequency (Hz)

10~ 9

10— 10

10

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

Frequency (Hz)

data; seg= 8192 tot= 86022 overlap= 0.10000000
nseg= 11

I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:
AP029.010 ; 1— 1 —
amp=5.03E—-08 f> 10Hz"
- amp=121E-07 f> 1Hz |
N amp=1.02E-06 £>0.1Hz
| | [ IIII| | | [ IIII| | | [ IIII| | | | |
101 100 10l 10°

10

106

Integrated Amplitude (m)



APO29 007 data#seg= 8192 nseg= 12; overlap= 0.100000001 dt= 0.0

AP029.010

1.0

©
o

Correlation

—-0.5

U |

—-1.0

O
-
|||||||||||||||||||||||

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 93805 overlap= 0.10000000
nseg= 12

I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:
- AP0Z29.007 ; 1— 1 —
R amp=4.10E—-08 f> 10Hz"
- amp=9.64E-08 f> 1Hz |
""" amp=08.14E-07 >0.1Hz -
i n —
| | [ IIII| | | [ IIII| | | [ IIII| | | _
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m?®/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 93805 overlap= 0.10000000

nseg= 12
I I ||||||| I I ||||||| I I ||||||| I I ||||||:
- AP0Z29.010 o 1— 1 —3
2 amp=5.10E—-08 f> 10Hz1
- amp=1.02E-07 f> 1Hz |
~ amp="7.74E-07 £>0.1Hz -
| | IIIIII| | | IIIIII| | | IIIIII| | | |
10~ 1 109 101 107

Frequency (Hz)

10

106

Integrated Amplitude (m)



AP029.007
AP029.010

1.0

©
o

Correlation
(@)
o

—0.5

—-1.0

data#:seg= 8192 nseg= 13; overlap= 0.100000001 dt=

r""m““"#

101 100 10!

Frequency (Hz)

10°



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 101588 overlap= 0.1000000
nseg= 13

I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:
- AP0Z29.007 ; 1— 1 —
R amp=3.29E—-08 f> 10Hz"
N amp=1.07E-07 f> 1Hz |
amp=9.12E-07 >0.1Hz -
i Ul *\‘ BE
| | L1 1 III| | | L1 1 III| | | L1 1 III| | | H} _
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m?°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 101588 overlap= 0.1000000

nseg= 13
I I I |||||| I I I |||||| I I I |||||| I I I |||||:
- AP029.010 1= 1 —
2 amp=3.74E—-08 f> 10Hz"
N amp=1.09E-07 f> 1Hz |
amp=9.08E-07 £>0.1Hz :
| | | IIIII| | | | IIIII| | | | IIIII| | |
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



APO29 007 data#:seg= 8192 nseg= 14; overlap= 0.100000001 dt= 0.0

AP029.010

1.0 —

o
o
|

o
o
|

Correlation

-0.9 —

-1.0 —

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 109371 overlap= 0.1000000

nseg= 14

AP0Z9.007 ; 1— 1

amp=3.37E—-08 > 10Hz"
amp=1.17E-07 > 1Hz |
A amp=9.70E—-07 f>0.1Hz

IIIII| LT

101 100 10!

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 109371 overlap=
nseg= 14

0.1000000

- AP0OZ9.010 ; 1—

|
1

IIIII| LT

R amp=4.46E—-08 > 10Hz1
amp=1.22E-07 > 1Hz |
W lamp=9.03E—-07 {>0.1Hz

101 100 10!

Frequency (Hz)

Integrated Amplitude (m)



APO29 007 data#:seg= 8192 nseg= 15; overlap= 0.100000001 dt= 0.0

AP029.010

1.0 —

o
o
|

Correlation
(@)
o
|

-0.9 —

*10 _ R

101 100 10! 10%

Frequency (Hz)



Power (m°/Hz)

109

10— 1%

10— 19

1018

10— <1

data; seg= 8192 tot= 117154 overlap= 0.1000000
nseg= 15

I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:
- AP0Z29.007 ; 1— 1 —
R amp=3.23E-08 f> 10Hz"
TN amp=9.93E-08 f> 1Hz |
J) amp=9.98E-07 £>0.1Hz =
| | [ IIII| | | [ IIII| | | [ IIII| |
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)



Power (m°/Hz)

109

10— 1%

10— 19

10— 18

10— <1

data; seg= 8192 tot= 117154 overlap= 0.1000000
nseg= 15

I I I IIIII| I I I IIIII| I I I IIIII| I I I IIIII:
: AP029.010 ; 1- 1 -
R amp=4.35E-08 f> 10Hz1
N amp=1.04E-07 f> 1Hz |
) amp=9.07E-07 £>0.1Hz 3
| | | IIIII| | | | IIIII| | | | IIIII| | |
10-1 109 101 107

Frequency (Hz)

Integrated Amplitude (m)



